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SECTION-A

i) General Awareness

1. Grand Central Terminal, Park Avenue,
New York Is the world's

14) larges! railway station
(B) highest railway station
(C} longest rallway station
(D) none of the above

2. Galilec was an lalian astronomer
who

(A) developed the telescope
(B) discovered foursatellites of Jupiter

(C) discoverad that the movement of
pendulum producesa regular time

méasuremeant
(D) all of the above

3. Deficiency of lron leads to
{(A) Ricket
(B} Malaria
(C) Dental Cavity
(D} Anasmia

4, Fire tempie ia the place of worship of
which of the following religion ?

{A) Taoism

(B) Judaism

(C} Zoroastrianism (Parsi Religion)
(D) Shintoism

5. Which gas is used for the preparation
of Soda water 7
(A)  Oooygen
{B) Ammonia
({C) Hydrogen
(D} Carbon dicxide

As °

6. ' FRS stands for
(A) Fellow Research System
(B) Federation of Regulation Society
(C) Fellow of Hoyal Society
(D) None of the above

7. During World War | Germany was
defeated in the Battle of Vardun an
the western front and Romania
declared war on the sastam front in
the year

(A} 1914 AD
(B) 1915 AD
(C) 1918 AD
(D) 1917 AD

8. Fa-Hien was

(A} the first Buddhist pilgrim of China
to vigit India during the reign of
Chandragupta Vikramaditya

(B} the discoverar of Puerto Rico and
Jamalca

(C) the first Buddhist pilgrim of India
1o visit China

(D} none of the above

9. How many times has Brazil won the
Waorld Cup Football Championship 7

(A) Four timas
(B) Twice
(C) Fivelimes
(D) Cnce

10. Inwhich year a resolution "Uniting for
Peace' was adopied by UN General

Assambly 7

{A) 1950 (8) 1960

(C) 1965 (D) 1880
IRES
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-
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11. In big cities like Deihi, Kolkata,
Mumbai, Chennal police is headed
by a
(A)
(B)

(€)

Commissioner of Police
Inspector General of Police
Deputy Inspector General of
Police

(D) None of the above

Modern Indo-Aryan languages are
based on an anclent language called

(A) Hindi
(B) Sanskril
(C) Kannada
(D) Tawil

12,

13. Lata Dinanath Mangeshkar received
Bharath Ratna in

(A} 2000

(BY 2001

(C) 2002

(D) 2003

The treaty of Srirangapatna was
signed between Tipu Sulian and
(&) Robert Clive

(B) Comwallis

{C) Dalhousie

(D) Warran Hastings

14,

15. The words ‘Satyamava Jayate'

inscribed below the base plate of
the emblem of India are taken from

(A} Rigveda

(B) Satpath Brahmana
(C) Mundak Upanishad
(D) Ramayana

5

16.

1w,

18,

18,

20.

JDD-1 m-cﬁwxﬁ’h

The last Mahakumbh of the
20™ Century was heid at

(A) MNasik

(B) Ujjain

(C) Allahabad
(D) Haridwar

Who wrote the line ;' A thing of beauty
is a joy forever 7

{A) John Keats

(BY Robert Browning

(C) P.B. Shelley

(D) William Wordsworth

In which year was the "All Indla Radio’
setup’

(A) 1936

(B) 1927

(C) 1947

(D) 1850

From which date the model code of
conduct s enforced in elections 7

(A} From the date of notification

(B) - From the last date of filling the
nomination

From the last date of withdrawal of
candidatures

From the date of announcement of
election schedule by the Election
Commission

(C)
(o)

The newspaper which upheid the
nationalist cause during India’s
struggle for freedom was

(&) The leader

(B} The Civil and Military Gazette
(C}) Dawn

(D) The Statesman

RESULTE

ESS PARTHNER
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ii) General Intelligence and Reasoning Ability

21. Play is to actor as concert is to
(A) symphony
;:B] musician
(C) piano
(D) percussion

22, Here are some words translated
from an artificial language.
lelibroon means yallow hat
plekafroti means flowear garden
frotimix means garden salad
Which Word could mean
* yellow flower ™ 7
(A) leiifroti
(B lelipleka
(C) plekabroen
(D} irotibroon

Directions for Q. Mo. 23 and 24 : Each
guestion has an underdined word followed
by four answer choices. You will choose
the word that Is a necessary part of the
underined word,

23. shoe
{A) sole
(B} leather
(C) laces
(D) walking

24. swimmi
(A} pool
(B} bathing suit
{C) waler
(D) life jacket

Directions for Q. No. 25 to 27 . Each
problem consists of three statements.
Based on the first two statements, the third
statement may be true, false or uncanain.

25. Spot is bigger than King and
smeller than Sugar.
Ralph is smailer than Sugar and
bigger than Spot.
King is bigger than Ralph.
If the first two statements are true,
the third statement is
(&) Trua
(B) Falss
(C) Uncertain
(D) Cartain

26. Middietown is north of Centerville,
Centerville Is easl of Penfield.
Penfisld is northwest of Middletown.
If the first two stalements are true, the
third statement is
(A} True
(B) Falsa
(C) Uncertain
(D) Certain
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27. Al spotted Gangles have long tails. Directions for Q. No. 30 and 31 : In each
Shori-haired Gangles always have series, look for the degree and direction of
short talls.

Long-tailed Gangles never have change between the numbers, In other
short hair. words, do the numbers increase or
If the first two statements are true, decrease, and by how much.

the third statement is

(A) True 30. Look at this serles : 544, 509, 474,
(B) False 439, .., What number should coma
{C) Uncerain next ?

(D) Certain (A) 404

28. Arrange the following in @ meaningful (B) 414

Baguances | f{:} 420
1. Phrase
(D) 445
2. Lafter }
3. Waord 31. Look at this series ; 14, 28, 20, 40, 32,
4. Sentence B4, ... What number should come next 7
(A) 1234 (Al 52
(B) 1,324
C) 2314 (% 6
(D) 2341 (C) s6
(D) 128

29, Arrange the following in a meaningtul
sequence | Direction for Q. No. 32 te 35 : Look

1. F

. Emgi carefully for the paitemn, and then choose
. Eagle .

g which pair of numbers comes next.

3. Grasshopper

4, Snake 32, 132015261723 19

G g (A) 2123

(A) 13524

(B) 34,251 o

(C) 53142 (C) 2017

(D) 63421 (D) 2527

) @moifesuLTa
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T &l | |
afE qes A sy g B ), T FEE | 30, [T : 544, 508, 474, 439, ... 5 3 -
(A) = HENEAHE ! L
(B) =S (A) 404
() s @) 414

1 i 7 (C) 420

2. F=a = W&Tﬂiﬁwﬁl (D} 445
|, ST i
g, WAR 31, ¥Een : 14, 28, 20, 40, 32, 64, ... H
3, ¥ AT HET R EHIR T
4, =T A) 52
(A} 1,2,3.4
B8 1,3,2.4 (B) 58
(Cy 2,3 1.4 (C) 96
(D) 23,41 ©) 128

2R mﬁmwimﬁ al g (v, %, 328 25); = ww A 2fay
w St 37l T w5 =4 fiia |
2. TES
3. f2m 32. 132915261723 19
4, -4 (&) 2123

T
% (B) 2021
(A) 1,3,5.2.4
(B) 3.4,2,5,1 (Gy 2017
() 5,3,1,4,2 (D) 2527
D) 53,421

A

. 11 ||
(#)DiRes 1.
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33. 1414 2626383850
(A} BO7T2
(B) bBOg2
(C) 5072

(0) 6262

34, 343026221814 10
(A) 86
(B) 64
(C) 148
O} §2

35 796612146617
(A} 19EB
(B) 6619
(Cy 1922
(D) 20868

35. Which word does NOT belong with

the others 7
(A) strest
(B) freeway
(C)  interstate

(0} expressway

37.

38,

JDD-18/PGT-CHEM/X-Y4

MAD : JXA :: BLUN : 7
(A) ORK
(8) 0SQ
{C) PRJ
(0) UXa

acE:bdF::fhd:?
[A) gik

(B} ghK

(C) diH

(D} fhL

Dda:add:Rrb:?
(A) BBr
(B) bRR
{C) RRAR
D) BrR

Direction for Q. No. 40 : Choose that set

of numbers from the four alternative sels,

that iz similar to the given set,

40.

(81, 77, 63)
(A) (56,52, 44)

(B) (84,61,53)
(C) (75, 71,60)
(D) (92,88, 79)
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14 14 26 26 38 38 50
(A) 6072
(B) “5062
(C) 5072

(D) 82862

343026221814 10
(A) B6

(B) 64

) 148 %

(D) 62

796612146617
(A} 1968
(B) 66 19
(C) 1922

(D) 208686

s = AT e R 7

(A) HEF
(B8) #|W
(C) *Awir=a

(D)

37,

3.
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MAD : JXA :RUN: ?

(A)
(B
{C)
(D)

acE:

(A)
(B)
(C)
()

Dda
(A)
(B)
(C)
(D)

ORK
0s0
PRJ

uxa

bdF ::fhJd: ?
ik

ghi

cifH

fhl

;add ::Rrb: 7
EBr
bRA
HHHA

BrR

aw (w. . 40) : @ i e wgE S
w1, el wEt & =9 St |

40,

(B1,77,69)

(A)
(B3
(C)
(L)

(56, 52, 44)
(64, 61, 53)
{75, 71, 80)
(92, 88, 79)
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iii} Arithmetical and Numerical Ability

41. The diagonal of a rectangle is 45. A student mulliplied a number by 3/5
instead of 5/3, What is the percentage

‘)r‘i__‘ amand Reases j 208G, o The arror in the calculation 7
_ perimeter of the rectangle must be (A) 35% B) 44%
< (A) 2cm {B) 18ecm (C) B4% (D) 54%
(C) 20cm (0) 41cm
.. 47. A box contains 2 white balls, 3 black
: 42, A car ownerbuys petrol at Rs.7.50, halls and 4 red balls. In how many
Rs. Band Rs. B.50 per fitre for three ways can 3 balls be drawn from the
successive years, What approximataly ?r:: T: E“E :ﬁiﬁt D;J;E?fk Kialfis 10 0t
is the average cost per litre of peirol ot . 2 —
if he spends Rs. 4,000 each year 7 Eg’} Ei :D; o3
{A) Rs.7.98 (B) Rs.8
(C) Rs.8.50 (B) Rs.® 48. Two pipes A and B can fill a tank in
20 and 30 minuies respectively. If
43, Albarnvested an amount of both the pipes are used together, then
Rs. 8,000 in a fixed deposit schems how long will it tske 1a fill the tank 7
for 2 years at compound interest (A) 12 min (B) 15 min
rate 5 p.c.p.a. How much amount (C) 25 min (D) 50 min
will Alpert get on maturity of the 46, Froma pack of 52 cards, two cards
rsad deposit. 7 are drawn together at random. What!
(A} Rs.8800 is the probability of bath the cards
(B} Rs. 8,620 being kings 7
{C) Rs, 8820 {A) 1135 (B) 25/57
(D) Nene of these (C) 85/256 (D) 1221

50. Atpresent, the ratio between the ages
of Arun and Deepak is 4 : 3. After
6 years, Arun's age will ba 26 years.

T 44, Froma point P on a level ground, the
angle of alevation of the top lower is

31_:}". If the tower is 100 m high, the What is the age of Deepak at present 7
' dmtanc_:a of point P from the foot of the (&) 18years {B) 15 years

lower is (C) 19 and half (D) 21 years

(&) 148m (B) 158m

©) 173m (D} 200m 1. The least number which should be

added to 2497 so that the sum is
45. Thesum of first 45 natural numbers is exactly divisitle by 5, 6, 4 and 3 is
() 1035 B 1280 i ‘ﬁ} :,g
(C) 2070 (D} 2140 ©) = i

%!NQ@ESUHE

CESS PARTHER
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i) TERmTOTH T U wETe T
41, T a1 el J41 & 2 s 46. Wﬁm‘*ﬁﬁﬂ‘ﬂﬁuﬁfﬂiﬁﬁﬁ
o SR co R B o | 30w /5.8 1 = @ | fema o e e
Syt aeft e o1 TR w7
i ! g (A) 35% (B} 44%
(A} 9H.HI (B) 184, H, (C) B4% (D) 54%
(C) 208. . 0y s1#.H. | 47 o ) 2, 3 F 3 4w i
it & i 8 | U el ate & 3 o i
42, UF R UTE o 0w SO 9 7.50%,, e =1 594 ot W AN S0 H =1
B %. 3 8.50 %, Wia o2t ot & @i & | TEF: TRTeTT 112 STIE B =iy ¢
uft 7 wit awl 4,000 % @E TR, A (A) 32 (B) 48
UiA e U S T ST A e 7 (& ‘64 \9) 96
(A} 7.e8% (B) 8 %, 48, Aaﬁﬂﬁmﬁaﬂﬁaﬁﬁaﬁm[;
(C) B50%. 4 O) 9% 20 it 30 il § v wed # | o e
qmmwnmmimagmmqﬁ
43 FefEd 8,000 F. HEM IO SIS H 2 et &g i 7 .
o 3 fo, 5 o s o g W) izkwe, (B) 167
e % roha (C) 25T (D) 50T
o e @ | st i aaty e
i s - Fate e e v e 7 43, Ezm:‘%%ﬁzq%ﬁmﬁﬁﬁﬁﬁ
(A) B00%  (B) 8,620%. “%iglwa‘*'?';ﬁﬁ'ww*’ﬁ*
©). 8820%. - /(by ARG ® 115 (8) 257
5 C) 35/256 D) 1/221
44, PRI o iAW, o i =
Frer IR R 30°8 | afs iy | 50 ﬁﬁmﬁiﬁﬁiﬁ%ﬂaﬂw
oW R A Ak Am 4:3%|98 18 3T I I 26
i L P T ERf | T F FTE I e 7
EEhER Il "
k (A} 18aM (B) 1579
(A) 149 17, (B) 156 =i, () 19',7d ) 21
(C) 173 =, (D) 200 . B .
51. 24979 T8 FAT T4 UEH H S E
45, TEET 45 T T w6 2 5, 6, 4 5 38 v are & W feman
HEF |
A
(A) 1035 (B) 1280 o 3 o 18
(C) 2070 (D) 2140 & 25 o
As ° =
(#)INDIRESULTE
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82,

53

54.

E6.

LA |

A

In-a two-digit, if it s known that is
unit's digit exceeds |1s ten's digit by 2
and that the product of the given
number and the sum of its digits is

- equal to 144, than the number is

(A) 24
(C) 42

(B) 28
(D) 46

A train 80O metres long Is running at
a speed of 78 km/hr. If it crosses a
tunnel in 1 minute, then the length of
the tunnal (in metars) s

(A) 130 (B) 360

(C) 500 (D) 540

On selling 17 balls at Rs. 720, thers
s a equal to the cost price of
5 balls. The cost price of a ball is

(A) - 45 (B) 50

(C) 55 (D) 60

The sum of three numbers is 83, If the
ratio of the first to second is 2 : 3 and
that of the second to third is 5 : B, then
the second number s
(A) 20
(C) 48

(B) 30
(D) 58

A man took loan from a bank at the
rate of 12% p.a. simple interest. After
3 Years he had to pay Rs. 5400
interest only for the period. The
principal amount borrowed by him
WES

(A) FRs.2,000

(Bi Rs. 10,000

{C) HBs. 15,000

(D} Rs. 20,000

@

57.

SUCCESS

A dishonest milkman professes to sall
his milk at cos! price but he mixes it
with water and thereby gains 25%.
The percentage of water in the
mixiure is

(A) 4% (B} 15%

(C) 20% (D) 25%

A man on tour travels first 160 km at
64 km/hr and the next 160 km at
80 km/hr. The average speed for the
first 320 km of the tour is

{A) 3555 km/hr

(B) 36km'hr

{G) 71.11kmhr

(D) 71 km'hr

A machine P can print one lakh books
in & hours, machine Q can print the
same number of books in 10 hours
while machine R can print tham
in 12 hours. All the machines are
started a1 9 AM. while machine P is
closed af 11 A.M. and the remaining
two machines complete work.,
Approximately al what time will the
work (to print ong lakh books) be
finished ?

(A} 11:30 A M.

{B) 12 noon

(C) 12:30 P.M.

(0} 1:00P.M.

The curved surface area of a
cylindrical pillar is 264 m® and its
volume is 924 m?. Find the ratic of

its diameter fo its height,
(A) 37 B) 7:3
(Cy 8:7 (D) 7:6
16
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82,

53

o6.

TS, =Y S g § o o e i,
iz J7eT 33 =9 AT A 2 A R
SR T FEET S Tk 3R & T
T 144 EIETE | 9 TE R

(A) 24 (B) 26

(c) 42 ©) 46

800 Tzt TR &1 U o 78 T, 1./
T2 9N ° SR R | 9 U e
1 {2 O TR AT R | 35 T ) T

(sfrzi) &
(A) 130 (B} 360
(C) 500 (D) 540

17 1z 720 5. % a1 & 5 72 Fr v
e e smer e & | o e o T
EALE
(A} 45
(G) 53

(B) 50
(D) &0

A1 HETa] o WIS 98 & | 9 wEel ain
T HE 2 : 3 S S g af ded
HIE 5 ¢ B 3T H & 1 70 v
(A} 20 {(B) 30

(C) 48 (D) 58

TF Sian 12% HEH 5 =36 21 Y
TFAEAET R A R AR
5,400 %, 96 =99 % 1 0 7 35
i aFr Ed R I TR R TR R
{A) 2,000%.

(B) 10,0007,

(C] 15,0007

(D) 20,000%,

JOD-18/PGT-CHEM/X-14

57. TE IO TESTEN ATE #HA W 2Y

=i 1 =1 A 8 | Fd | g g d
01 Ziear & 39 25% ST SR |

30 i § g s ufsm @
(A) 4% (B) 15%
(C) 20% (D) 25%

58, HW A A1 = = iE Tt 160 B,

B4 . ot / we aih smet 160 . T,
ao . ot/ sar g e & | vEd
320 . . awr S e i @

(A) asss5f&. . gz

(B) 38fE =1 /g9

{c) 71.11 5. 4t /93

(o) 717 o

59. P W 893 # T i (oo Hisn &7

"l 7, Q walts 391 2 GFamE 10 =52
H, =9 pusiA 3 12 g A ufta
wwal & | w1t w3fiS gaw 0w T A
W E | WA P WIS g 11 a5
pEE R L E iR
Fil | v e 59 ¥ (T
e =R A ) FHI B 7

(A) 11:30AM. (B) 128mw

{C) 12:30P.M. (D) 1:00P.M,

60, TH HTSE BN ¥ 7% Hon %

264 712 % 3N IEF TAHe 924 R
THE S I TES S | 3 T
=hifam |

A 37
€ 8:7

(BY 7:3
D)y 76

TE
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iv) Test of Language : Hindl

wrre oo ;e
Faferfin wori < sat g e | frkm 69 3 70 ; 6 F v TEa |
g1, A A FeRaigss 1 89, Tl + 33 = W2
am o |Taan @
e 3 () graEr (o) =y
62. 'TATE h1GulgETsl B ; :
(A) (B) e AL Sl .
© F= (0) e () el B) Trer
63, ‘i Feeima b 7 & T DR
(&) Tm (B) = 71, famftdi 000 wmERaEEnd
(C) =g oy Fem HEAEAIE |
1. SRR (M) aftsm (B) e EE
' A T ® T (C) =R (o) T
(c) = (D) Fiw 72, FEHIE F g 5 2,
: ! : T
65, st i wrafem Wh-gaE A mé ﬁmrj i
) e (B) T mmmiﬁm
(C) =T (D) ™ for e & o i () e
68, ¥ AT 9I5| v = o v e it ()
(A} FTMTEAEI ?‘Wﬁﬁﬁm— o S
8 FfEad i
(C) T T # | (Al “ﬁm
(D) FEITEEEER | (B) fem, s
67, el f g i (©) ak"i' e
(A Twn (B) HETEE () fom, Fremt
(Cy =T (D) WR=E 73, WAt et A Hean T
g8, ‘= + @l W afaEnfi Eﬁﬁ&qﬁﬁwa? ‘
(8) s ®) s () s {8, APTCEER
(C) sFgnft (D) EE (c) Trmf (D) Wrag
A
6’?"'?! DIRESU
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74, ‘v 5 wnoribe e 76, v 2 i = vl S
(A) i o e “formmerm % i & A
(B) ¥ & feru oem e T E, i
(C) ¥ # T (&) T & I 2 o8 d |
(D) 1% BT (B) Taererm = Sfam = f ggmmn
75 ‘wee wTeE eI R (C) Termmern & wrean & it =1 fammn
(A) s B) sfra Rkl
(C) =M (D} 31eTE (D) wEaeeEl 9 e § e
S B !

76 — BO : 3fEa W
s stEm 1 e 1 o 308 77, a8 e s e % st v afea

Taifea vt v oy mEagReedm Iwm a8 B &, i T aw

wet fame w1 Faa wt | (A) e Fepemedt gy e # |
Fremera % sifem o o o v 9 R (B) % o gE Fe= A o |
Teremielrt =t Siae whiarer = = | TeTEe o | (C) =RfEF=T T 2 |

TF AR UH ok el A 3 e ) (D) 38w il A A

geeht 4 7ot 1 Tamn, v =8 i i w
ST 32 T | ATTE T 9 T 38 # 78. FEr = sfon = (fm) Emia R e

1 19 1 & 911 37T e @ Sree wohEe ferameff

TV HHTS %R R A © | e o (A) Ff=E e § s g |
mimﬁmmmﬂ?ﬂﬁﬂﬂﬁﬁ (B) = fotu gwrd=sfi sl gz sfaT a1
1 | 37 57 % %1 ) S 50 7 oft g F o (C) 1 7= 3 TRE 1 T WA |
IWF 79 71 9, S 36 39 wfeen w1 T (D) =8 W g T e 7 |

o I T {36 ST T (S ) = '

% 3ifoe 9= =1 3o Tou o ot 97 = 2 | 79, wEdEd faadi e E T Fm fioear
g1 A 21 H e et 36 Sl s ite i

A g o o e s e o 7 sverrfie (A) Tl (B) =l
J=am B, R e edi e (C) fimeem (D) rizEe e

s o 3 1 3 wft wempl 20 ) 3 s
R TERETE | T AN A E BO. 3TWATYH A WA H HESEH] 6 HHI

b

TR AT T8 W, GEE AN s 5 | v B= 5 | e e R e 7
30 &7 Fmer w3 Eemff 3 g 5 =t (&) THaEdEd &
@ S Ew, CE e w e e (B) TP EETE
SR S A R | e A R, (C) Taremedi forgm 3
& T ATH T AR | (D) =8 ST | ST
A " 3G
G|/) !NH !ILBCEiigﬂhRTNER
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v) Test of Language : English
T OitEToT & ST
81. Change the Passive : The invigilator |  pijrection for Q. No, 86 and 87 ;
was reading out the instructions. Complete the statement,
{A) The instructions were read by the
invigilator. 86, The manager would like you fo help
(B) The instructions were being read Dhiraj, means .....,
out by the invigilator. (A) the manager would fike you if you
(G} The instructions had been read out help Dhiraj
by the invigilator. .
(D) Theinstructions had beer read by 8 g‘ﬁ mansger dosies: you 1 heip
the invigitator, e
{C) the manager likes you because
B82. Select the pair which has the same you halp Dhiraj
relationship. (D) Dhiraj expects the manager to tell
DISTANCE : MILE you o help him
(A quuili : litre

(B] bushel:com
(C) weight : scale
(D) fame : lelevision

Direction for Q. No. 83 and 84 : Choosa
the word which is the exact OPPOSITE of
the given words.

I B3. Evasive
{ {A) Free (B) Honest
i (C) Liberal (D) Frank
84. Gregarious
(A) Antisocial (B} Glorious
(C) Horrendous (D)  Similar

85, Directindirect spesach : She said thal
her brother was getting married.
| {A) She said, "Her brother is getting

1 marned."
I (B) She told, "Har brother Is gelting
married.”
(C) She said, "My brother is gelling
married.”
(D) She sad, "My brothar was getling
married."
]
Ax ,

-20-

#mo

87. QOwing 1o the acute power shortage,
the people of our locality have
decided 10
(A) dispense with othar non-

conventional enargy sources
(B} resortto abundant use of electnicty
for lumination

explore other avenues for utilising

the excess power

resor fo use of electricity only whan

it Is inevifable

(C)

()

88, Find the correctly spell words.

{A) Ninarery
(B) Itinerary
(C}y IMenary

(D) Itinarary

B89. Find the correctly spalt words.
(A) Survaillance
(B} Surveillance
(Cy Survellance
(D) Survellance

IRESULTE
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B0. To pick holes
(A} Te find some reason o quarrel
(B) To destroy something
(C) To criticise somecne
{D) Tocut some part of an item

Direction for Q. No. 91 and 92 : One Word
Substitubion.

91. One who eats evarything
(A} Omnivorous
(B) Omniscient
(G) Irrestible
(D) Insoivent

g92. The cusiom or practice of having
more than one husband at same tima
(A) Polygyny
(B) Polyphorty
(C) Polyandry
(D} Polychromy

3. Order the words : People
P : at his dispensary
Q : went to him
R : of all professions
S 1 for madicineg and treatmeant
Tha proper sequence shouid ba
(A) QPRS (B) RPLS
(C) RGSP (D) QRPS

Direction for Q. No. 84 and 95 : |denlify
the error.

84, Solve as per the direction given
above,
(A} Do the rases in your garden smell

(B) More Sweetly
(C) than thoseinours 7
(D} Noerrar

JDD-18/PGT-CHEM/X-14

95. Solve as per the direction given
abhove.

{A) Block of Residential Hats
(B) are coming up

(C) nearour house.

(D) No eror

Direction for Q. No. 96 and 97 ! In the
following question choose the word which
best expressas the meaning of the given

word.
98, RESCUE
(A} Command
(B) Help
(C) Defence
(D) Safaty
g97. ATTEMPT
(A} Sarve (B) Explore
{C) Try (D) Explain
98. The pathsofglory lead 1o
the grave.
(A} Straight (B) But
(C) In (D} Directly
899, The telephone soverl imes

before | answearad it

{A) was ringing
(B) has rung
(C) had rung
(D)  wiould ring

L
"

100. He passed the examination inthe first
class because ha

(A} was hard working for it
(B) waorked hardly for it

A . (C) had worked hard far it

6:"9

A

IND

oUR

(D) was working hard for il

IRESULTE
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101.

102

103,

104.

SECTION-B

JDD-18/PGT-CHEM/ X~

Post Specific Subject-Related Questions

Chlorobenzene, on reacting with

- sodamide in liquid ammonia yields

aniline as the major product. This
conversion is considered to be

(A) Mucleophilic substitution process
(B) Elimination-addition process

(C) Single electron transfar process
(D) Addition-elimination reaction

Amongst the compounds, benzene ([),
anisola (1) and chlorobenzens (I},
the relative reactivity towards nitronium
lon is

(A) lg=l<Ill (B)
(G} Mell<] (D)

l<lll <l
M=l=I

Consider the following reaction :
RCOOAQ __B% | RBr+AgBr+CO,,
The name of the reaction and the
Intermadiate formed In the reaction,
respactively are

(&) Hunsdiecker, free radical

(B) Hel-Voihard-Zelinsky, carbanion
(C) Sandmeyer, free radical

(D} Wolt, carbene

An aromalic compound {X) of
molecular formula CoH,NO liberates
ammonia on bolling with sodium
hydroxide solution. When it is reactad
with bromine in presence of sodium
hydroxide solution, the product
formed will be

(A} Benzonitrle

(B) Aniline
(C) Benzamide
{D) Benzoic acid

Gj'jmp

105.

106.

107.

2%

IRESU

SUCCESS

Which of the following statemenls
about ‘vegetable oil' is incorrect 7

(A} Unsaturation in oils tends to
increase its melling point and
also tends to make it a solid at
room tempearatura

Qils are carboxyiic esters derived
from a single alcohol, called
glycerol

Oils are widely usad for the
production of soap
Hydregenation of oils slows down
the ocourrence of rancidity

(B}

(C)

(D)

When ethy] benzoate is refiuxed with
dilute sodium hydroxide, it undergoes
hydrolysis. The mechaniem invoives
(&) Acyl oxygen bond cleavage,
unimolecular

Alkyl oxygen bond cleavaga,
unimelecular

Acyl oxygen bond cleavage,
bimeclecular

Alky! oxygen bond cleavage,
bimolacular

(B
(<)

&)

The 'H NMR spectrum of the

compound : CH,O CH(Br)CH.(Br)

would show

(A) athree proton doublet, one proton
singlet and & two proton doublet

(B) a three proton singlsl; one proton

singlet and a two proton doublet

a three proton triplet, one proton

triplet and & two proton triplet

(D) a three proton singlet, one proton
triplet and & two proton doublet

(£)

PARTHNER
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101. 73 st 1@ 74 wlzmwe ® | 105, ‘Teerfa e & fam o @ S
TR #1 wfvfEn | sl o FE AR T
W 3T TR & | 9% ST 4R (A) T # e wEgfa I T
T 0§ Fav @ i 3 e arE o =9
(A) TR T e B o To wagw #aefl &
(8) Frermm-afiads ik (B) e 5 o T U S !
(C) T SEEE TR iR B T T T e g e R s
(D)l - Fremm afem (C) el &1 TEE % SeeA o ST 59
AR (1), ufEER (1) S T () Gl
102, A (1), v ) e S (11 y s
AR, 3P e s il b e
afefEmuma 2
(A) M<l<in® (B) l<ll<ll | 108 = wtey Hifzm wEisamsz & vl
(C) Ni<li<i 0y Mel<li T SR R e, w I
‘ LY el - 3T BT 2 | 55 wem e B
103. P sifafErn =1 em g 2fan (A} Ul TR e s, T
RCOOAg 5% , RBr+ AgBr + COy, (B) STrTket SATaae w7 T9e,
feFaT i1 A7H T A4 g S w2 T
(A) EAEERR, T A (C) uff i wy fee,
(B) FE-dEEE-Ai, wEiEEE e ]
(C) THrEH, T Yo (D) 3Teehe AT =Y fage,
(D) e, A Tt
St  gfay | 107, CH,0 CHIBrCH,(Br) 3 =1
o ﬂh:xgggﬂm%m H NMR 2 (&) fam m
| T AT ST B A e SR e (A) i -SIER ST, - e e i :1
| 2 | 7@ 74 AifET FEgEEEE % ZEm a- e et g o
| % WY FTEA | St we E e (B) FH-SrEH vz, TR~ STET et
| e - _
(A) m (C) _ﬂfﬁ-‘ﬂ'ﬁ;ﬁﬁﬁ*ﬁﬁﬁfﬂw e 0
(B) R S-S .
(C) wAEEES (D) RN v, T -wTEe T |
F-WEHATAE
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108,

Li= . =
]

111,

As

108.

110,

An aromatic compound with molecular
formula CzHZO displays a strong and
sharp peak near 1690 o™ in its
FTIR spactrum. Then, its most
probabie structure would be

(A) 3—HO-CgH,CH =CH,

(B) CzHCOCH,
(D) 2-HO-CgH,—CH=CH,

An organic compound ‘A’ doss not
show absorption peaks in the region
1600~ 1800 ¢~ but shows a strong
paak at 1070 e nits FTIR spectrum.
Its "TH NMR spectrum has two multiplets
nthersboof1:1atd 1.8and 3 3.7, The
structure of the compound ‘A’ will be

(A Hq‘— CH, — CH = CH - CH,OH

® (7
© O

{D) HO—-CH,—CH, - OH
The base strangths of

4 — CHy— CgH, — NH, (1),

4~ CH,0— Gt ~ Nl (1),
4 -~ O N—CgzH, — NH, (lil) and
4 - Ci—CH, — NH, ﬁv:am in the
ordear of

(A) 1=ll=IV=

(B) =I5Vl

(C) I=U=lll=1V

(D) H=l=lll=1V

Which one of the following phenols is
mare likely to be soluble in agueous
sodium bicarbonate solution 7

(A} 2, 4-Dihydroxy acelophencne
(B} 2,4, 6-Tricyanophsnol

(C) 4-Cyanophenol

(D} 3, 4-Dicyanophenol

112

113,

115,

JDD-18/PGT-CHEM/X-14%

Which one of the following compounds
wauld show the longest &, 7

NG,

(A) g (B) %
NO,

© Gy, (D)

The reagent used for the reduction :
CH4CH = CH—CHO — CH,CH =
C-H CH,OH, Is

(A) Hg/ F"t

(B) [{CH5),CHOl,AL

{C) Zn-Hg/HCI

(D) NaBH,

When n-butyl bromide is heated with

anhydrous aluminium chloride, it

isomerizes o 2-bromobutane. This

reaction involves the formation of

(A} & primary butyl carbocation

(B) primary butyl and sscondary butyl
carbocations

(C) asecondary butyl carbocation

(D) asecondary butyl free radical

Michael reaction is an example of

(A) a nucleophilic addition to an «a,
[i = unsaturated ketone, under
base catalysis

(B) a reaction proceeding via a cyclic
transition slate, in the presence of
light

(C) a reaction involving an
intramaolecular rearrangement,
undear acid catalysis

(D) an electrophilic addition to an
otefinic bond, through a frans
faction

IRESU
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108, CgHyO :Tvifey FaEen s Hnfu
A1fie A9 FTIR T2 § 1690 o
W EeIel AR A EHe e |
UH W 35 S e e e
(A) 3-HO-CzH,CH=CH,
(B) C4H.COCH,
(C) 4—HO-CgH,~CH=CH,
(D) 2~HO-CgH,~CH=CH,

T e T A’ 1800~ 1800 ¢!
B T ST < o i # T ] e
w30 FTIR ¥528 3 1070 om!
R e S T e ® 3 THNMA
TgA T § 180 § 37 1 1 ST
5 =1 Fgier @ WA A e e
(A) HO—CH, ~ CH = CH— GH,OH

®
)

(D} HO-CH,-CH,—OH

108.

110, FRHTE

P “NAL iy

- CH0 - i .

4= N—csﬁdimuznn}zd'g{ )
4 - Cl = CgH, ~ NH,, (IV) 50 dmit of &
(A) Isl=vs

B) lsl=V=Il

(C) I=l=1l=Iv

@ szl

111. 7= 5 8 Fiar Saie =+ aifzan
ST 1 H e R R
(A) 2, 4-SEErrgla THeh
(B) 2 4, 6-ImgEETE
(C) 4-~TraATTeT
(D) 3, 4-ZTEHEH Fete

Ax

i

-25-

112

113.

114,

115,

JDD-18/PGT-CHEM/X-14

e T e e s o,
farm 7

N,

(A) E (B)

NO,
(C) E;w’ (D)

A=A & o v e st
CHLCH = CH -~ CHO — CH,CH =
CH- CH,OH

(A) Hy! Pt

(B) [{CH3),CHOJ,AI

(C) Zn-Hg/HC

(D) NaBH,

S N~ SETE NS, TARREE g

W#mmﬁmmt,ﬁﬁ

E—ﬁwﬁ'{lw T WHEETE B A 2 2

stufEn 8 o 2 )

(A} T T e wETE

(B) el sgere oin fdles s
TR

(C) v Torias wqerge wtaam
(D) v TeriTaer syereer 4 Hereh

T 3 TWieR TH T AT £
(A) SV ITAMA, o F Y U

Wﬁﬂm p— 375

(B) W% R s amn fad
o g il wan

{C) ¥/ 3o % 3= FsTEg
T ot st

(D) TR F T HelEhE o §
U T2 el 1 T

IRES
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116. The isomers, «-D Glucose and §-D 1

17,

118,

(A

AU A,

Glucose are termed as
Enantiomers
Epimers
ANomers
Diasteracmers

(B)
(G)
(D)

Which of the following statemeanls are
comect with respect to ‘conformational
isomers’ 7

a. They are interconvertible by
rotation about single bond
The enargy bamer separating
Wem is less than & kl/mole
c. They are best represented by
means of Fischar Projection
foarmuiae
They can be separated by easy
chemical means
Choosa the correct answer from the

codes given below .
(A} aandb

(B) a,bandc

(C) bandcg

(D) a,candd

d.

Sulphonation of benzena differs tram
its other electrophilic substitution
reactions in that the reaction

requires the presance of a Lawis

19,

120.

(A}
acid as calalyst

(B} fakes place with explosive
viclence with suffocating gas
evolution

(C)  requires elsvated temperaturs and
as well as high pressura

(D) 1= revarsible

121.

Lx

JOD-18/PGT-CHEM/X-14"

Salicylic acid is obtained from phenol
by. reacting it with

(A) CO,and hot alkali under pressure,
followed by hydrolysis
{B) CCl, in alkali, followed by
hydrolysis
(C) CHCI, in alkali followsad by
hydrolysis
(D) any of the mathods indicated in
(A), (B)and (C)
in paptida synthesis,

2, 4- dinitrofluorobenzene is
genearally used for the purpose of
(A} making amino acids insoluble in
waler and thus making them
readily crystallizable
protection of carboxylic group of
amino acids through electrophilic
attack
protection of amina group of amino
acids through nuclecphilic attack
for bringing about coupling
between the carboxyl and amino
groups to lorm peptide linkage

(B)

(S

(D)

A hydrocarbon of malecular formula
E?Hm, on catalytic hydrogenation
over platinum gives C.H, ., The parant
hydrocarbon forms addition product
with bromine and also it reacts with
[Ag{NH4),]OH to give a precipitale.
Then, the parent hydrocarbon [s

[A) {CHg)C - GH,— € = CH
(B) CHy—CH=CH-CH = CH - CH, - CHy
(C) CHy=CHy—€ =C - CH (CHgly

GHy— CH = CH— CH,, - CH=CH - CH,
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116, o-D =ERE &7 [} -D R TAETH
[ el Al b
(A) TAIERE (Enantiomers)
(B) T (Epimers)
(C) - T (Anomers)
(D) EWTHEI (Diastereomers)

{17, ‘“guyofreoh oy F AT FeHE

FIET O TR E 7

. o AT W e e 8
SIEAT A B

b, FAE! T S A S S
Bklmole BT 2

c. Tirem o o 8 I S uhE
e sl B

d, T SN TEEE ST 8 S
foa s wEa

Tl kg ko s et

(A) a =M b

(B) &b 3N e

(C) bae

(D) ac 3fnd

118, S o7 GeTRETE I 25

FRERET LR ol R

STE 2, TR arhyfER

(A) I IERE T G v 37 o S
Rk

(B) @ eH i g % a F an e
e e 2

(C) =) Fa BT AT I I R
T BT B

(D) widEd 8

e e —

JDD-18/PGT-CHEM/X-14

119, mfafafeE o fa ¥ % o
Ereet fufda g e g
(A) CO, N TR e 2 & =
3t 5 o -
(B) CCl, eael # 3K =18 H wei-
I
(C) =il # CHCI, 3 712 3 Fa-
T

(D) (&), (B) = (C) H @l =1d o v

120, TergE wvEE H 2, 4 feigrweEi
ST AR T 5 o (e S 6

(A) ST ST R W e S
(B) SEEIRieTE a5 S hA 35
F ST e SR o T
(C) Rl ST Z i
e 3 AT T T T
(D) ST ST S e & e
URIEE HAE T o o A

ERIE|l

121, CyH,p IR 3 31 U BTG T
HeAd % 39 I EHEE AW |
i & C.H, g | 9175 BT AT
% e sifafe IeR wa F e R
[Ag(NH,),J0H & stfafFa 57 o=
SRR & 2 | TR T, S OAEE

(A) (CHy),C - CH, - C = CH

(B) CHy—CH=CH-CH=CH~C0H,~ GHy
(C) CHy—CH,~C =C —CH (CHaks
(D) €Hy—CH=CH—CH,~CH=CH-CH;
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The absolute configuration of the
asymmetric centres present in the
following optically active molecule I5

CaHs
OH - |:|:1 -H
i Gy -H
&

(4) 18, 2R
(B) 1R, 2R
(C) 15,25
(D) 1R. 25
A
Amaongst the hetarocycles, viz. pyndine,
piperidine, pyrrole and guinaline, the
least basic compound is
(&) Piperidine
(B} Pyrrole
(C) Pyridine
(D) Quinaline

The most conveniant method to obtain

4-nitropyridine starting from pyridine,

is lo

(A} nitrate pyridine with fuming nitric
acid

(B) react pyridine with a mixture of
concentrated nitric acid and
sulphuric acid

(C) treat pyridine with sodamide
followed by oxidation with Crly

(D) convert pyndine o
pyridine-N-oxide and then
nitrating it by nitric acid

JOD-18/PGT-CHEM/X-1&

125, Which of the following statemants
regarding tha species 'methylene’ are

correct 7
a Methylene is formed by the
photolysis of diazomethane

b,  Methylene can exist in two
differant forms, |.e. the singlet
and triplet states

¢ Singlet methylene is a di-radical
and is more stable than the triplet |
slate

d. When methylene Is generatad in
the presence of alkenes

opropanes are formed
Select the correct answer from the
codes given balow |
(A) a,bandc (B) candd
{C) a,bandd (0} & candd

126. The catalyst used for convening
g;:g}rlana to polypropylena by
iegler method is
(A) TiCly + CHyMgI
(B) TiCly + CHy(CHal5L

(©) TiCly+ ‘Ejl'i‘éf'
0 (Gy T+

127. Choase the correct statements from
the following :

a. The carbon-magnesium bond of
the Grignard reagent is covalent,
but highly potar, carbon being
slightly positive relative 1o
electronegative magnesium

b. The Grignard raagent undergoes
reaction with aldehydes and
ketones, via nucleophilic addition

c. The reaction of carboxylic asters
with Grignard reagents is an
excellent method of prepanng
tertiary alcohols

4, Grignard synthesis is imporiant as
it permits formation of new carbon-

axygen bond
Select the correct anawer from the
codes given below
{A) a bandc (8) a,bandd
(C) bandc (D) &andd
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122.

M—.—J

143,

124,

= wermafia whea a1 & i wmwiim
el Pt frm 2

CeHy
OH- é.—H
Cl- f:l,a ~H
o

(&) 15.2R
() 185,28

maitEEs, Traafies, mere el
e feamer=aet 9 2 =gam anffa
o E A

(A) TREIITERES (Piperidine)

(B) T (Pymole)

(C) TFIETEA (Pyriding)

(D) FAIE (Quinoline)

T EIE H SR F Y
4-mzrarafeen o9 % o Tl
LIELIFEE R E A

(A) w2z gt 1 aRhE e %
AT H ARIEA FA

" Tl s s weEEhE
7 % v &1 wrafremA & sl
AT

ArEnTEE § i e S
3R AT CrO, | ST
T frETE 1 AT - N -
T afiEea w st A H AR ae
o IR AEAET

@r

(B} 1R, 2R
B 1R, 23

[B)

(€)

(D)

125

126.

127,

NDIRE

OUR S5UC -l’: S5 PARTHMNER
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‘Tufaefa’ il & an d o O & S

okl af

a. EEEie & weffeg 2 B
FATE |

b. fufedmdtsmmendmat - wa
st i smen |

¢ U MfiEs wE e e
ek & sfus BaEmi

d. = ST i Iy § s
HAAT R, T AR S R

P dashzwam

(A) a;b &t ¢ (B) ¢ #% d

(C) &b 3N d (D) ac #h d

Tome vl F et =1 arfemtfies
4 afrEds % fow z5m= g

(A) TICl; + CHyMg

(B) TICI, + CHy(CH ; Li

(C) TICl; + (CoH)

D) (C,HTi + AR‘.':I:,

o=t o & weft = =g e
8. TS A - T e
BT # e wg sgevendt 7 # =i
fergrvmer Frfiem % qe A
TR AT YT A
b. wieEgs N F44 % 9
e el g fimand
kT e e
¢ TiAE sfieeds & aa wEiE
T S arTfor =% O sTeTETe
Tl 24 dftem 2
d, e Heern gEe €, wat A
AT ~ 3 Taea W7 B | 8 Wi

3

Sk
P gz o g o I g
(A} a b 3 ¢ (B) ab 3w d
(Cy b 3\ ¢ D) a A7 d
SULTH
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128. Addition of fittle potassium iodide | 131- ’-“-G”;mh of the f;hwing lsﬂr;m:jsis
; ¢ Scnamas can usa in
accelerates the hydrolysis of primary A Brnoaniing

alky| halides because of the fact that

(A) lodide lon is a powerful A Gy 110N (100 MOV e P
1

nucleophile as well as a good Ji] Bry HyO

laaving group (B) Gy {1 B, FFaBry ang (2) HNO+ HyS0,
(B) Potassium jodide is soluble in - ’

organic solvents [ ] _Bafet

(C) lodide lon is a weak base and a
poor leaving group
(D} lodide ion is a strong base

(C) CaHNH, Bry /Febiry
(D) GgHeCOOH _Brg/FeBn [ ]

{1} SOCL, and (2} NHg [ -|
128. A corugated enone exhibits an e e
ultraviclet absorption maximum at Br, /NaOH

245 nmfor x — = * transition whan the ' ’
spectrum is run in hexane assolvent. | 435 \What is 'C' in the following reaction
It the solvent is changed 1o ethanol, scheme 7

this absorption maximum will

HC = GH 19504 /diHzS0, g

(A} remain unaffected
LA, g PEz  C

(B) disappear
{G] shift 1o longer Wﬂ"uﬁﬂlﬂﬂgth EA‘: Emfhdlﬂﬂ bromide
(0} move to shorter wavelength (B) Ethylane bromide
: ) (C) 1, 1-Dibremoethane
130. In order to synthesize phanylalanine (D) Ethyl bromide

by Gabriel's phthalimide method, i

needs potassium phthalimide andan | 133 The polymerization of 1, 3-butadiene
i give poly (butadiene) elastomer is

estarof
an example of
(A} 3-phenylpropanoic acid (A} 1,2 addition
(B) phenylacetic acid (B) trans-1.4-addition
(C) 2-chlorophenylacetic acid (C) cis-1, d-addition
DY 2-chioro-3-phenylprmpanaic acid (D) trans-1, 2-addition
As e ~30-

A

(#)NDIRESULTE
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- 130.

o

As

128,

128,

o T o SR HTSTE T2

srteres fem @ wafiE sl

ToTEE S-S A w1 8

(A) SITETEE Y SR & SR E
o T e wE e e

(B)

ERULETR

TTIERE & HEH FUAN S S

ol SE T HEE R

ARITEIEE & T WA ST ©

{C)

(D)

=3 T3 8 v w1 s aae
EEIGE G e H‘ﬁﬂlﬂiaiﬁ'm.gﬂ‘ﬁ
Scic mﬁ% 245 nm 9% TITETH]
T asa & | o Reas e
T S AT E, 7 R S SEnEn

(D) B oS B T =
s & phthalimide T80 &
phenylalaning 1 HYerEm F & fore,
EHCURE T RL T T

phthalimide 37 38 5527

(A} 3-phenylpropanaic 371

(B) phenylacetic H&A

(C) 2-chlorophenylacetic =1

(02} E-chlar&E-phEnflpm{:anﬂm 3

@m. IRES

T s 1 g s

JDD-18/PGT-CHEM/X-14

51, ey 6 A i S e

132

133,

m-bromoaniline TT - = fod,
IR 7

(A G (1 HNO 3/Hz80, #i {2) 8n

[ ] Brs /H.O

+ HEA
- +

(B} CHa

L] ey

(D) CgHcooH _ Bry (FeBry

3]

bt Ko shis 3 A

Bry (MaOH

fre s s g o s ?
HgSO, /8IH S0 g

HC = CH:
LA, g

(&) SR FEES
) sfaferammss
(C) 1,1-EZEamEda

(D) =it ATEE

1, 3-buladiene FTHREN (FZEH) SHEH
71 % fom SEeEET 98 EE O
Ecizu b

(A) 1, 2 R

(B) trans-1, 4-¥EMT

(C) cis-1, 4-37EH

(0} trans-1, 2~-FETH

Fl EFE E

SULTE

PARTHNER




134.

135,

1386,

137,

indiresult.in whatsapp - 9352018749

In the following reaction, the formula of
the first compound, i.e. C4H O is

Cuclcdation by K CrOy /Ha50,

—

C,Hs0 2NN ey,
(A) CH4CH,CH,OH
(B8] CH,OCH,CH,
(C) CHLCH(OH)CH,
(D} CHyCH,CHO

The ionic radii of K*, Ca®*, CI and
5% lons decrease in the following
ander:

(A) CI-> 8% > K*= Ca®*
(B) K*>Ca?>Cl->8%
(C) ®a*s K+ = Ol 82-
(D) S5 = CI > K*> Ca?*

Which of the following are not
acceptable sets of guantum numbers
for an electron in an atom 7

a n=3Il=00m=1m=-%

b. n=3, /=1 m=-1m,=-%

g, n=31=2m=0m=-l2

d n=3I=1m=2m="%
Salect the correct answers from the

codes given below :
(A} aandb (B) aandd
(C)}) aandc (D) bandec

wWhich one among the follcwing
complaxes exhibits optical isomerism 7
(the ligand ‘en’ means HNCH,CHNH,)

(A} cis-[Co{NH ), CL,|Cl
(8] cis-{Colen),Cl,iCl

(C}  trans-{Co{NH.),Cl,ICH
(D) trans-[Colen),Ci;|Cl

(@) NDIRES

138.

138,

tan.

141.

JDD-18/PGT-CHEM/X-18"

In which of the following are the

chemical farmula and its name

migmatched 7

(A} Na,[NIEDTA) : Sodium
ethylenediaminetetra-
acetonickal (1)

(B) K[PHNH,CI.] : Potassium
amminepentachloroplatinate (I1V)

(C) [AgICN},] : Dicyanoargentate
(1} ion

(D) K4[CrGa0y)a): Potassium
st R (i)

Which one of the following statements

15 corrgct 7

(A} The[NI(CN),J* ion has tetrahedral
peomelry and is diamagnetic

(B} Tha [NI{CN)J® ion has &
square-planar geometry and is
diamagnetic

(C) The [NI(CNj, >~ ion has a
square-planar geometry and is
paramagnetic

(D) The [CulNH,),J* ionhasa

tetrahedral geometry and is

diamagnelic

The four quantum numbers, viz. n, /,
m,, and m, of the valence electron of
potassium, respectivaly are

(A) 4,1,1.% B) 4,1,0%
(C) 4,4,0,% (O} 4.0,0%

Identify which of the following system
are isoalactronic.

a CN-, CO* NO

b. CN-, CO, NO*

¢ F,",OF &

d. OH-, HF, NH;

oelect the comrrect answer from thea
oodes given below :

(A} a bandc (8) b,candd
(C) a,candd (D) a bandd
ULTH

PARTHNER
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134,

135.

136.

137.

C,H,0 %8 Weet gtfie 3 e sferisn
A f

pebsl K Oy [ HS0
EGHED e _n:mE Eﬂr.: o T HaS0

a0 T2 INTH ey,
(A CH4CH,CH,OH
(B) CHZOCH,CH,
(C) CHCH(OH)CH,
(D) CH,CH,CHO

K+ Cal+ o ain 92 = e Bed
e Foft o = =R

(A) CI"> 82> K+= Ca®

(3 K*=Ca%*>Cl">8%

(C] Ca?*zK*:>Ci =5

(D) 8§25 0f=K*>Ca®

e 1 i segA & e fs 1 8
FATUEE A o Al T g AE A Y
=1 n=3.!={l,mr=1.m$=-—ﬁ

b. n=3.:‘=1.r~n,=—1,m$=—h&
c. n=3I=2m=0m,=-%

d n=3, =1 m=2m=%
frr gz 8 B wd I A

(&) a 3 b (B) a 3N d
(C) a 3N ¢ (D) b 3¢

T w0 g =R TerEi HEEEETE
TS |

(3f1: ‘an’ 1 IAEE &
HaNCH,CHaNH,)

(A)  cis-{Co(NH,),ClolCI

(B) cis-[Colen),CL]CI

(G} trans{Co(NH),CLICI

(D) trans-{Cofen),Cl,ICI

@

=33~

138.

138,

140.

tal.

JDD-18/PGT-CHEM/X-14

i & 9 forem TR g9 i smw
TH AN RIS

(&) Nag[Ni(EDTA) : Sodium
athylenediaminstetra-
acelonickel (1)

KIPi{NH4Clg] : Potassium
amminepentachioroplatinate (IV)
[Ag(CN).,]™ : Dicyanoargentate
{1} lan

K4lCr{C20,)q] : Potassium
tricxalatochromate (I}

o 9 9 S A HE

(&) [MI{CN)J?~ &7 =i Saehcha

it Bt # R TE w-gade
LTk

[NI(CN) I~ 3T/ 1 = —Fwaet

wTE] BT & 370 8 ol gE
ik

[Ni{CN) 4] e =1 =~ Hea e

sl BT & 27 98 SR

IR

[Cu(NH ) ]2~ R il Ifee
w2t B ofi =78 v e
G

3 = T AT SeTEE i g S
=00, |, m, 3 m A R

(A) 4,1,1.% B) 4,1,0,%
(C) 4,4.0,% (D) 4,0,0,%

fi 1 @ S Tt adEEeE E,
TR TEATHY

a. CN-, CO* NO

b. CN-, CO, NC*

¢ F50OF S

d. OH-, HF, NH,

e d # w T ghE

(A} a b 3R ¢ (B) b.c
(€} ac¥Rd (D) ab

\B)
(C)
1)

i8)
1S

(D)

1 d
Al d

DIRES

R SUCCESS

PARTHNER
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142, |nthe reaclion :

HNOy + 15 - HIO, + NQ, + H,0,
stoichiometric number of moles of
HNO, and I, will respectively be
(A) 10and 2

{(B) 1and1

(C) 10and1

(D} 1and2

143 Amixture of NaCl. NaBrand K,Cr,0,
on heating with concentrated H,50,
In a dry test tube produces reddish
brown vapors consisting of

(A) CrQ,Cl, + CrO,Br,

(B} QO;+Cr0,Br,

(C) CrO.CL 4+ Bry,

{0y Br,+ClLO

144, Generally, redox enzymes prefer Mn,
Fe, Coand Cuto Zn, Gaand Cain
biological processes, because of the
fact that

(A) they have variabie oxidation states
(B) delectrons are easily available for
the specific reactions in Mn, Fe, Co
and Cu

they possess low charge density

delectrons can be translerred over
a long distance in biomolecules

()
(D}

145. Which of the following compounds
has the electron-palr geometry as
trigonal occupied by lone palr of

alectrons 7

Aluminium chlorida
Dichloro-diamino-platinum
Alky! magnesium bromide
Xanon difluoride

[4)
(B)
1C)
(0]

146.

147.

148,

JOD-18/PGT-CHEM/X-14

The refrigerants, wiz,
chloroflucrocarbons are of much
Brvironmental concam mainky
because

(A} they cause greenhouse effect

(B} they destroy the OH radical
generated photo-chemically from
water vapar which Is an effective
scavenger for polluting gases

like CO, NO,, H.S

they generate toxic COCI, and
COF, by reacting with atmospheric
O, in a photechamical process
they photochemically generate Ci
atoms which catalytically destroy
the stratospheric ozone

()

(D)

The correct sequence of = - accaptor
strength of the following ligands
naving p donor, Is

(A) PFy< PR, (R =alkylaryl) < P(OR),
{R = alkylfaryl) < PCl,

PCly < PFy< P(OR), (R=alkylaryl)
< PR, (R =alkylaryl)
PF3<PCL < P{OR), (R = alkylary!)
< PR; (R = alkylaryl)

PR; (R = alkylaryl) = P[OR),

(R = alkyl'aryl) < PF, < PCl,

(B)
(C}

(o

The asymmetry in the slectronic
absorption spectrum In the visibla
region of [Ti{H,0).1* is caused by

(A) charge transler
(B) £ e
(C) e—1

(D) Jahn-Teller distortion
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142

143.

144,

145.

agPutaRa ;
HNO, + 1; — HIO5 + NO, + H0
i HNO, 31 1, 511 & wiafmiics
o o R
(A} 1032
(C) 1031

(B) 131
(0} 132

TF WS 5 A § NaCl, NaBr 3R
K, Cr,0, 31 s i H,80, F3m
T o = e - TR S e
wmi e, A Em e

(A) CrO,Cl, + CrOBr,

(B) ©rO4+CrO,Br,

(C) CrO,Cl, + Bry

(D} Bry +‘Eleﬂ

T ST & i HEE: A A
w1 fufrneT O Tsiwn TaeH Mn, Fe, Co
3 Cu® Zn, Ga M Ca T FEar
o R

(&) TR A TTEE e i
LiGiE:

(B) Mn, Fa, Co 3t Cu P w ffm=
syfirfaa = fog d wereeia el
IO EI B

(C} 34T =T s HEH FH EA f

(D} - T gl d g
& e B e R

T e g F B A
éﬁ?ﬂﬂ?ﬁﬁﬂﬁﬁﬁwu‘lﬁ'ﬁﬁé@?
T At B R 7
(A) SFegmbeEm FEE
(B) BRI~ R -

(C) el SR wHES
(D} T SEwHEE

-5

(#)o

148,

147.

148

JDD-18/PGT-CHEM/X-14

TR S8 w98 wEiE

Fifrm I, W e A

(A) 3 qrET-TE o AT A R

(B) GO, NO,, H.S Feft wgfieer fart =1
TS ] STt AT W T
o #1 Fes OH HETeh 1 719 54 8

(C) & W -TEE S A H 3
ST O, 3 sihf FE §
COCl, 5 COF, 38 FMF I
W &

(D) =TT - TR TR | G
1 I A £ FRAT S S
1 TERH AT E

e AT o e % n-S=N

TE R B FNE

(4) PFy< PRy (R=alylaryl) < POR),
(R = alkyliaryl) < PCl,

(B) FCly=PF;=P({OR);(R=alkylaryl)
< PR, (A = alkyliary!)

(C) PFy=<FCly=P{OR),(R=alkylaryl)
< PR, (R = alkyVaryl)

(D) PRy (R =alkyVaryl) < P{OR),
(R = alkylaryl) < PF5< PCl,

[Ti(Hs0)g)™ & fommd et @3 &
FHETE TR o o R ST
AT ET e

(A) T AT

B) £ e

C) &t

(D) SiA-2en fEER

IRESULT

SUCCESS PARTHNER
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It is obzerved thal with increase in

atomic number of lanthanides, thera

Is a decrease of lonic radii. This is

mainly due 1o increase in

(A) valency electrons

(B) electronagativity charactar

(C) atomic volume

(D} nuclear attraction for valence
gtectrons leading to inward
shrinking of shell

The ortho form of dihydrogen contains

(A} nuclear spins which are opposed

o each other
(B) nuclel with one profon and ane
nautran

(C) nuclearspins which are aligned to

gach other

(O) Yucei of one proton and two
neutrans

Borax on haating strongly above its

melting point melts to a liquid, which

then solidifies to a transparent mass

commonly known as borax bead. The

chemical constituents of the borax

bead is

(&) sodium pyroborate

(B) a mixture of boric anhydnde and
barc acid

(C) amixture of sodium metaborate
and boric anhydride

(D) amixture of sodium metabolite and

sodium pyroborate

Fluarine does not form any polyhalide

as other halogens bacause

(A) it has maximum electronegativity

{(B) it has low F-F bond energy of
about 150 kJ mal™’

(C) it brings about maximum
coordination number in other
alemants

(D} of the abhsence of d-orbitals in the

valence shall of it
L ]

=16

153.

154,

155.

JOD-18/PGT-CHEM/X-14"

In the extraction of Nickel by Mond's
process, the metal s oblained by

(A) electrochemical reduction
(B) reduction by aluminium
{C) reduction by carbon

(D) thermal decomposition

Among the following oxidizing
agents, the decreasing order of thair
oxidizing strangth is given as

(#) S,0% >Cr0% >MnO;
B} MnO; >Cr02 =50
(C) MnQ; =505 >Cr0f
(D) §,0% >MnO; >Cr,03

Which of the following major reactions
are involved in the farmation of
metallic copper from its sulphide ore
in the pyrometaliurgical process 7

(A) CuS +30, -+ CuO +50, and
CuQ+C — Cu +CO

(B) CuS +20, — CuS0, and CusS0,
+CuS -» 2Cu + 280,

(C) CusS + g 0, — CuO + S0, and
Cul + C0O — Cu + GGE

(D) CuS+ %DE. — CuQ+ SO, and
2Cu0 + CuS - 3Cu + 50,

A 0.174 g sample of pyrolusile ors IS
heated with concentrated hydrochloric
acid, Whan the chlorine evolved s
passed through potassium lodide
soiution, it liberates 0.245 g of iodine
quantiaively, The purty of the pyrokusite
sample ks (Given ! atomic weight of
Mn =55.1 and that of | = 127 gmol™)
(A} 40% (B) 0%

(C] 70% (D) 50%

#)NDiRESULTE
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148,

150.

151

162,

A

77 S v B i, SR o T
e B e e 3 e o € |

ZRTEEEA (dihydrogen) & =191 w8 4

e

Ay i R Fes e €

(B) =i fatl v WiEE 3 O EE
i

(C) =mdia BT

(o) =¥ ford R

A w1 W 3HE ST & S A
B B S, T aE aE A S
e = 1 99 B R URE R weaE o
GETI R 1018 R i e e e
w= T 1 | i ¥ % TEaAE
TeE

(A) HifEam ez ;

(B) ?;ﬂmwﬁﬂmﬁﬁmm
1P

UARIEEISS T HEm

Hifeam femnEe 3 A
Hirate %1 e

30t T e T S HifeRees
T =T i

(A ﬁﬂ;ﬁwmﬁaﬁgﬂmﬂw

M AT
i 2 =g

()

{D)

(B) I T 150 kJ mol™! F AT
FEFFaa R d |

(C) =M HZsl & =2 FAeglos 79=4 T
AAE !

(D) THS HEEF] F94 § d- i
FATEMAD
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157. Which of the following statements is

incorrect 7

(4) Liguid oxygen sticks 1o the poles
of magnet

(B) Silver perchiorate is soluble in
water

{C) Many peroxides ara colored
because of the presence of
superoxides

(D} The atomic size of silver is less than
that of gold

158, Zeolite is
(A) hydrated ferric oxide
(B) hydrated sodium aluminium
silicate
(C) sodium hexametaphosphals
(D) godium tetraborate

159, Heavy water is usually prepared by

tha

(A} reaction of deuterium with
ammaonium hydroxide

(B) prolonged multistage slectrolysis
of 0.5 M scdium hydroxide solution
using nickel electrodes

{C) oidation of deuterium with czone

(D) prolonged electrolysis of the
solution of a mixture of banum
hydroxide and sulphuric acid

160, Al second group metals dissolve in
liquid ammonia to give a bright blue
colorad solution, This coloration is
due to
(A} a&change in the structure of the
ammonia

(B) d-dtransition of electrons

{C) an elactronic transition from a
lower ta a higher energy state of
the metal lon

(D) tha spactrum of the solvated
electrons

FALNETE s I |

1B1.

162

163.

164,

JDD-18/PGT-CHEM/X-14™
in Buckminster-fullerena (C-80), all
carbon atoms are
(A) spi-hybridized with a square

antiprism shape
(B) sp-hybridized with a diamond-like
shape

(C) sp2-hybridized with a truncated
icosahedron shape

(D) sp? - hybridized with a graphite-iike .
snape

Which of the following statements is

incorract with regard to 'silicones’ ¥

(&) They are thermally stabla when
compared 1o other polymers

(B) They ara strangly water-repsllent,
are good efectrical insulators and
have nonsticking property

(C) They contain Si — C— 5ilinkages
with high bond energy

(D} They contain Si— 0 — Silinkages,
which possass high bond anergy

¥enon trioxide possesses a

(A) T-shaped structure

(B) square-pyramidal structure
(C) irreguiar tetrahedral structura
(D) trigonal pyramidal structure

Whan an excess of SnCl, solution is
added rapidly to hot Hgélz solution,
the compound produced is

(A} Ha,Cl, (B} Sn

(G} Hg (D) [SnCl]*

Which of the following pair of
compounds precipitates readily
when their aqueous solutions are
mixed togather 7

(A) AICL and ZnS0,

(B) FeSO, and BaCl,

(C} Cu(NO.), and NH,CI

(D} NaF and AgNQC.
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(A) = ST o g1 1 T 8 % THTY " :
(B) TorE T O g (n) Tawg faw smwn A S o
(C) FTFETEE & w1 5y A1 = a2 :
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(D) i eEEEE SR T e | 184, T I chlamﬁaaﬁﬁaﬁ SnCl,,
ﬁﬁmﬁmﬁaﬂw F1 AT w20 2 foem 9w @ ae
i = A 2 |
eI ECI R (A) Hg.Cl (B} Sn
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166. The molecular formula of Inarganic 171.  While coagulaling a negatively
benzene ‘Borazole' is charged lyophobic colloid, a lesser
amount of AlCI, is mqmrad whan
Eg’ EHP?IGHL‘ {{g; 32:5 comparad o ﬂ'lat of NaCl becauss
I B33l g0 (A) the molecular mass of AICI,
167. The basic structural unit present in higher than that of NaCl
silicate’ minerals is . (B) AI** is slightly smaller than Na*
(A} Si B) siot o fepas - -
4 {C} the lonic charge of AlF" is three
(C} SiO, (D) Sio% times that of Na*
(D) the mobility of AP* lon is more
168. Which of the following mixture will than that of Na*
function as a buffer solution ? S — BN . e OO
| & enthalpies of formati
= gzi’fgﬂl ” and MgO are - 48.4 kJ and -34.7 o
' respectively. What is the enthalpy of
c. NaH,PO, + NaHPO, the reaction :
d. $H,Cl + NH,OH 2Mg + Si0, — 2MgO +8i 7
Choose the correct answer from the () -1362k (B) 21.16kJ
codes given below (C) 1380k (D) -21.0k
{A} bandc (B) a,candd
(C) bandd (D} b,candd | 173. Theoptical density ofa 5.0 = 1079 M
solution of potassium permanganate
169. The molar conductivity of HCI (aq) has been found fo be 1.5 at 670 nm
is greater than that of NaCl (aq). in 10 mm cell, Its molar extinction
This Is because coefficient will be
(A) molecular mass of HCI |5 less than (A) 0.75litmol cm™
that of NaCl (B) 75 litmal~! em!
(B) HCI gives strang acidic solution (C) 300,00 lit mol~! em™!
whereas NaCl gives a neutral (D) 30.00 it mot! cm™!
solution
() HCI s ionized to a greater extant 174. Which of the following is incorrect
than MNaCl with regard to ‘Transition State
(D) mohility of H* ions is more than that Thaoo/ of reactions 7
af Na* ions (A) The reactants are first converted
to an activated complex of higher
170, A 0.2 molar aqueous solution of a very anergy
weak acid is 3.2% lonized at 288K. (B) The activated complex can be
\What is the approximate value of the isolated and characterized
dissociation constant of the acid in (G} The activated complex ramains in
waler at that temperatura 7 equilibrium with the reaclants
(A) 9.6 =102 B) 9.6=103 (D} The activated complex has a
(C) 1.25= 108 Dy 2. [} x 1079 Iransiant existence
A

@!Np.lﬁ =SULTE
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HIA A AT = A

186.

W

168,

168.

170,

(&) BH40, (B) BgHg
(C) ByMNgHg (D} BsHyy

T e sy e R BT B
{A) Si 8 siot-
(C) Sio, (D) si0F

fre o & S g v g

HE FATE T
a NaCl+ NaOH
b, dfEy + 9w s
¢ NaH,PO, + NaHPO,
d NH,Cl + NH,OH

ﬁmgﬁﬂﬁﬂ!ﬁﬁﬁﬁm
(A) b o (B) & c3hd
(C) bafd (D) bcalmd

HCI (aq) &1 TMH-aTT (e

STE%dl MaCl (ag) 8 st eidi 2 |
TEHH R R

(8) HCI =T S 3539T Nall =
FEAT H BT

HCI #Td 31i1 2= 271 & ==
Na(C| 5T & JETE ZEm

HCI T8 NaC) & 31firs 8 s
ETe

H+ 3T 1 igaiera Na® FEa &
e & safies ot 2

298 K W1 U= #EA ¥l gale &5 1 0.2
ﬁ‘maaﬁuamaz%mﬁmﬁt
FHATIA W 7 H T ST

o st 7
(A} 9.6x 103 (B) 9.6x= 109
(C) 1.ﬁxm-ﬁ {0} 2.0x 1074

(B}
(C)

(D)

7.

172,

173,

174.
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w4 e W wendts SemE
T o w8, 79 NaCl e
AICL, =1 %5 W1 H S(Tasaal wedi 1,
LRl

(A) AICI; 1 ATVE Z=aEH NaCl &
AT e § 3 R
AR T AR T Na* o 8 g
el

Al =1 SR TS Na* 3 S =
adnd

AR+ a1 nfeefte Na* aEm

i nfersfiera & s 2

Si0., 3 MgO % == § 73 awell
mﬂ’r{mﬁamj BT —48.4 kd
S —34.7 k| T APriEr it eyt
R

2Mg + SI0, — 2Mg0 + Si 7

(B)
(C)

{0)

(A} -13.62kd (B) 21.16kdJ
(€) 13.80kJ (D) —21.0kd
10 mm e 8 yreifiay wime &

5.0 » 107 M 21591 H1 TRETE T4
870 nm T 1.5 9ET 74T | 35 e
(A} 0.75 it mol-! em~!
(B) 75 Iitmat em
(C) 300.00 lit mai-! om™?
(D) 30.00 it mot! em-!
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175, Consider a spactral ling resulting from 180. The approximate pH of a solution
the transition of electrons fromn =2 formed by mixing equal volumes of
ton =1, in species glven below, Ths solution of 0.1 M sodium propenoate
shortest wavelength is obtained by and 0.1 M propanoic acid (the
(A)  hydrogen atom dissociation constant of propanoic
(B) deuterium atom acid = 1.3 » 1073 will be
(C) singly ionized halium {A) 152 (B) 3.2

176. According to Langmuir adsorption . , '
isotherm, when the pressure of a gas 19s prlin mal.mrnurn Quthiee o iple points
= vary large, the extant of adoption is E'ﬂjm;l” ng En ".IE e aaponent
(A) independent of pressure g
(B} directly proportional to pressure e 8 2
(C) inversely proportional to pressure (€ 3 @ 4
(B) dliectly proportional fo the square | 185 The emf of the cell: Hy(1 atm),

TN Rt Pt| H* {a=X) || H* (a=1) | H, (1 atm)

177. Exagtly 2.0 gof a solute A is Pt -Eh‘ 25°Cis 0.59 Y. The pH of the
distributed between 100.0 mL of watar solution is
and 5.0 mL of CCl,. If the equilibrium (A) 1 (B) 4
amount of A in H'ha aqueous layer is ' 0
0.5 g, the parfition coefficient of A ) i
between CCly and water layer is 183,  Which one of the following conditions
{A) 43 {B) 40 would cause the largest deviation
{C) B0 (D) 8O from the van der Waals equation for

real gases 7

178. At what temperature will oxygen : :
molecules (molecular weight = 32) W, Hhah premsure and high
have the same kinetic energy as Bfgaraluie _
helium atoms (atomic weight = 4) at (B) Low pressure and high
J20K? temperatura
(A) 40K (B) 160K {C) Low pressure and low lemperature
(C) 320K (D) B40K (D) High pressure and low

lemperature

178, An agueous solufion of electrolyte, i
Ag SO, was electrolyzed in & cell | 184, A process is said to be ‘spontanecus’
having platinum electrodes till 1.6 g al all temperature when
of oxygen was liberated at the anode,

What was the mass of silver W) aH=0and 450

deposited at the cathode 7 (B) AH>0and AS>0

(A} O8g (B) 108.8 {C) AH=0and AS<0

(C) 184 (D) 215; (D) AH<Oand AS<0
A

@mm RES
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175.

1786.

.

178

173.

ﬁﬂﬂﬁﬁf{w%q=2ﬁn=1
e T 3 I A FiEge TE
witfern | e e g e @
(A) ETEES AT

(B) EirEs AT

(C) ke T feferam

(D) T s fefim

e 3 afemmiv @ & HTEN, T4
i‘mﬁrma@aﬁﬁﬁmtﬁﬁm

EakiE|

(A) =T T R

(B) T HE FETe w8

(C) =% wiowirda; SHTIWH €T &
(D) 78 & & HrE W g
i 2.0 gw T5eia 100.0 mL 719 sfi
50ml Col datmami o A i
welia 78 91 o O 05 g &, @
CCl, 3 7§ & =/ A F JuF

T B
(A) 43 (B) 40
(C) &0 D) &0

320 K 1 feferam woamy (TTAmETE
A = 4) it il T AT T
(FEEE WE = 32) F e TETE W
AL A 7

(A) 40K (B) 160K
(C) 320K (D) 640K

T S g e A
TS fen FE e W 1.6 g
TTeE o B e Ag,S0, F1
ST T rm | e T
=t ot wr e ot
(A) Q89

(C) 184

B) 108.8
D) 21.64q

181.

182.

183.

184.
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0.1 M Wi 5 0.1 MRS
S (AT o w1 faae fEnE 2
1.3 % 10°5) & U 9= O & T4
Clegcukn pHH"T‘FTE"FH

(A) 1.52 (B) 3.62

(C) 4.89 (D) 552

U - GelH T 1 foi fEgel )
el e T £
(A 1
() 3

(B) 2
(D) 4

A F1 emt Hy(1 atm), Pt| Ht {a=X) |
H* {a= 1) | Hy (1 atm) P, B 57 25°C
WemB050V|FETF pHE
(A) 1 (B} 4
(C) 7 D) 10

s (Tae) e s e dmas§
HHTERA A R T T e st
Terereta = AW T

(A) I3 =@ S0 =9 e

B) e Em drTm e

(C) T i = e

(D) FeaE 3N FEamEE

At ET Wi T we
I 8, T4

(A) AH=03W AS=0

(B) AH=0 3R AS=0

{C) AH=0 %R AS<0

(D) AH<O 3T AS<0
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185. Peplization is a process of 188. K, for the equilibrium :
(A) precipitation of colloidal particies Atifégf ﬁi:n «2C (g),is ::.ﬂ rr:ﬁa
VTR a . In an experiment ‘a’ mole
& purrh::a.tmn g mmljds \ of A is mixed wlthxg molesoi B ina
(C) protection of colloidal solution one liter vessel, Atequilibrium,
. (D) dispersing precipitates into 3 moles of C is formed. Then, the
calloidal solution value of 'a’ will be
] (A) 3.5 moles
186. ‘T‘ha. equivalent weight of _anhyrdrqus (B) 4.5 moles
jsthum carbonate when its snluh:?n (©) 9.5 moles
is titrated against hydrochloric acid in (D) 2.5 moles
presence of phenolphthalein as
Indicator, is 180. When the initial concentration of the
(A) 53 reactants is increasad by fourfold, the
(B) 285 rate bacomes eight times its initial
value. Then, the order of the reaction is
(C) 213
4 (A) 15
(D) 106 B) 2.0
187. A sample of sulphuric acid with (C) 35
density 1.8 g mL~" is 90% by weight, (@) 25
What is the volume of the acid that

191.  In a Hydrogen-Oxygen fuel cell,

EZSI::ST :i: :;;:hﬁ ane litr of {A) the overall cell reaction is

- P - 2 Hz (g) + O4lg) — 2H,0 ()
(A} 16mL (B) the overall cell reaction is
(BY 10mL 2H,0 (1) — 2 H, (g} + O, (g)
(G} 18mL (C) the cell voltageis 2.0 V
(D) 12mL (D} chemical energy can be stored

188. In which of the following processes 192. Consider a call with cell reaction :
does the entropy decrease 7 Mg(s) + Cu™ {T} — Cus) + Mg {aq).
. . : If the standard alectrode (reduction)
The dis
(A) e dissolution of potassium potential of Mg2*(ag) /Mg (s) and

| Chiarge In water Cu?*(ag)Cu (s) are—2.37 and +0.34 V
(B) The evaporation of benzene respectively, then the standard emf of
{C) When a dozen of glass beakers the cell inV is
are taken out of a small bag and (A +2.71
dropped on the ground (By —2.7
(D) The conversion of gaseous carbon (Cy —2.03
dioxide to dry ice (D) +2.03

) @moiresus
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185,

1886.

187,

188.

T wfE &

(A) FEEEE F w5 sEETn

(B) =ieTa<r &l 1 yfamm

{C) TRIETTEEE SET & o

(D) FIETEEE A s i
AT

AT fer < FuFEaR it aE e g
TS Wi FEk & FEm a

(A) 53°% (B) 26.5
(C) 213 (D) 108

1.8 g mlL~" 5 =T SerEie T

HE, WHH 90% 2 1 0.2 M1 0F w1

Hﬁﬁiim%ﬁﬁ#%ﬂwm

3 % wrE e e =i §

(A} 16 mL (B) 10mL

(C) 18mL (0) 12mL

fam o & e i § o

(STEH-HTT) T EAI T T

(A) Wi Feries T A e

(B) e g A

(C) TR B A B g i
=1 e = w9 T

(D) i FEe e AR T HE
3 i =
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188. 400K9A (g)+ B (g) «» 2C (g) Hgern
K. 2 3,071 | 0 Tmm d A% |
HE B % 8 HiEl A UF o ana o

T am R AT WG H 3 vm
W E |

THH ‘' H R E

(A) 354 (B) 457

(C) @.5%m (D) 257
190. 9 FRME i = wa S

=TI 8, 79 o AR geg =

TR Rt aT e | TEE, sl defi 2

(A) 1.5

(B) 20

{C) 35

D) 25

181, PERm-AHe S AR T
(A) HOO He S
2 H, (g) + Ou{g) » 2H,0 ()
(B) HWEH arfiEm #
2H O () — 2H, (g} + 04 (@)
(C) He T 20V
(D) THEmEfE S g P e 2

192, THEHe SN Hw s HifE .
Mgls) + Cu™ (aq) — Cu{s) + Mg {aq)
1% Mg** (aghMg (=) 3 Cu* (aq)iCu (s)
= W fweagis () s
T 23734034 Y 2, T AE W
TR e §
(A) +271V B8 -2.71v

(C) —2.03V D) +2.03V

45
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183,

184,

195,

1596

The osmaotic pressure exerted by

equimaolar solutions of barium chlorida,

sadium chloride and sucrose will be In

the ordar of

{A) Scdium chloride » Sucrose >
Barium chlorida

Sodium chioride = Barnum chicride
= Sucrose

Barium chilonde = Sodium chloride
= Sucrose

Sucrose = Sodium chloride »
Banum chloride

B)
{C)

(D)

If & compound undergoes
letramerization in a given solvent,
then itz 1.;ian'1 Hofl factar, 1 is

(A) 4.0

(B) 0125

(Cy 2.0

(D) 025

Nickel crystallizes in an ‘fec’ unit cell
with a celkedge length of 2.524 A.
What will be the radius of nickel atom 7

(A} 1.246 A
(B) 1.624 A
(C) 2,164 A
(D) 1426 A

In silver chloride, the silver ion is
displaced from its lattice points to an
interstiial position. Such a defect In
the crystal is termed as

(A) Schottky dafect

(B} F-Canter

(C} Wadsley defect

(D) Frankel defect

@

197

198.

198,

200.

l:
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Uinder the similar conditions of
tempearaiure and pressure, hwo

gasas have the same number of
molecules, Then, they must

(A) be noble gases

(B) have equal volumes

{C) have a volume of 22.4 dm= each

(D) have equal number of atoms

Which one of the following statements

regarding ‘viscoaity' Is correct 7

(A} The viscosities of most liquids
decrgase with increasing
tamperature, and those of gases
Increase with tamperature

{B} The viscosities of most liquids

Increase with temperature, and

those of gases decrease with

Increasing lemperature

The viscosities of liquids as well

8% gases incraase with increasa in

temperaturs

The viscosities of liquids as well

88 gases decreasa with increase

In tamperature

(G}

(D

Phosphorus shows an oxidation
number of +3 in

(A) orthophosphorous acid
(B} orthophosphoric acid
(C) metaphosphoric acid
(D) pyrophosphoric acid

The pH of a hydrochionc acid solution
is 2.0. Sufficient guantity ol water is
added to it to make the pH of the new
solution 5.0. The hydragen-ion
concantration is reduced lo

(A) ten fold

(B) seven fold

(G} hundred lald

(B}  thousand fold

RESULTE

S8 PARTHNER
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FTANEE

183.

(D}

Tie v fau o s § <
TN £ 8, 1 9 92 57
o B
(A) 4.0
({C) 20

184,

(B) 0.125
(D) 0.25

3.524 A WA F TE-FN 99 ‘foe
T H e ez = 1 P
SR =1 ST R 7

(A) 1.248 A (B)
(C) 2.164 A (D)

185

1.624 A
1.4986 A

PR T s 9 S s w
weer Ferfa o st Moy o
warE ST £ | s v S
TR 7

(A) TERieEh! g

(B) F-%=3

(C) F=zawi-ay

(D) %=haEm

1986,

A
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187, TR =9 5T & U Aam Rafaal 5 2
i & o it ven v i EE B | a0
IERlIE

(&) Ty

(B} = A4 i aE

(C) 22.4 dm? 3T 975

(D) T St mm EEn A

wES & an § e g 8 s sy
Lo A

(A) aEmLad a5 e T A
F |G T w2 i A oaed
B9 & W

TTRT WHI BE1 1 TR G &
T3+ | i e & o e e
Gk fnik

AN wE4 8 ZE1 &1 3T o) £
AT 5261

AN WeA 8 24T o7 2 M S
T WAl

. RTERH S 1 e S 43
Eriiag

(A ATUTERE e
(B) SRR 75
(C) T I
(D) SRR s

BIES AT S0 SV F1 pH2.0 % |
o T U e T g

pH 5.0 =TT STAT B | BT — st
A BT g A

(A} == I (B) BRI
(C) ® (D) TEEI

188.
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(C)
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